KounokBujym n3 Maremaruke 3, B cmep - 25.1.2024.
. Pemmmn jenmaunny 22y — 4z?y” + (8x + 23)y’ — 2(4 + 2?)y = 0.

. Pemnru mermoButHu mpobiaem

Up = Uy + 2 + eos (mt) + sin (nt), (z,t) € (0,7) x (0, 00),

u(0,t) = sin (nt), u(rw,t) = sin («t) — cos (nt), t > 0,

u(z,0) = %2, z € (0,m).

. Oppenuru ekcrpemaity byHKIIHOHATIA

Z/2
/[2y2 + - 2*y? — (y + 2) cos (In x)]dx
1

Koja 3aj0Bosbasa y(1) = 55, y(e%) = —55, 2(1) = — 15, z(eg) = —=¢",
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. Pemuru jenmaumny x2y"" — 4x%y” + (8x + %)y’ — 2(4 + 22)y = 0.

. Pemnru mermoBuTHn mpobiaem

Up = Ugy + 2 + 7 cos (nt) + wsin (nt), (z,t) € (0,7) x (0,00),

u(0,t) = sin (nt), u(w,t) = sin (7t) — cos (7t), t > 0,

u(z,0) = fr—z, xz € (0,m).

. Oapenuru excrpemaity dyHKIMOHAIA

Z/Z
/[2y2 + 4 2% — (y + 2) cos (In x)]dx
1

Koja 3agoBomasa y(1) = 35, y(e?) = —55, 2(1) = — 15, 2(e2) = — e

KouokBujym n3 Maremaruke 3, B cmep - 25.1.2024.
. Pemmuu jenmaunny x2y" — 4z2y” + (8x + 23)y’ — 2(4 + 2?)y = 0.

. Pemmru mermosuT mpobiaem

Up = Ugg + 2 + weos (mt) + xsin (nt), (z,t) € (0,7) x (0,00),

u(0,t) = sin (nt), u(nw,t) = sin (7t) — cos (wt), t > 0,

u(z,0) = %2, z € (0,m).

. Onpenuru exkcrpemaiy (byHKIHOHATIA

2
/[2y2 + % + 2%y — (y + 2) cos (In z)]dx
1

Koja 3agoBombaba Y(1) = 3, y(e?) = — 55, 2(1) = — 15, 2(e%) = —3e™.



